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3.6 BEXFFERERIRE - BWD
R RER: LR

TRIGID1212

. = fEHI EHEEE | BEEIES | TOMBEES
EE #EtE (n=68) (n=21) (n=45) (n=2)
L #ate et e #heEte #Hat=
CRP TEBIE 6 20 f%‘z" ﬁ2""
(mg/dL) EHiE 0.2 0.2 0.3 0.2
ZERE 0.4 0.4 0.4 0.2
=/ME 0.0 0.0 0.0 0.0
h il 0.1 0.1 0.1 0.2
=KRIE 1.6 1.6 1.5 0.4
RBIEL 4 1 3 0
PT-INR iE 1513 53 17 36 0
FHE 1.2 .1 i.2 -
EERE 0.1 0.1 0.1 -
B/ME 0.9 1.0 0.9 -
R RiE 1.1 1.1 1.1 -
=XAIE 1.6 1.3 1.6 -
B 15 4 9 2
Bone mineral density JEBIER 24 9 14 1
(g/cm?) FEHiE 0.5 0.5 0.5 0.7
EERE 0.2 0.2 0.2 -
=/IME 0.2 0.2 0.3 0.7
h 2 {E 0.5 0.4 0.5 0.7 B
= XNE 0.8 0.8 0.8 0.7
V& TE 44 12 31 i
n SE{5I B 51 17 34 0
(ug/dL) EiyiE 84.7 84.3 85.0 -
ZERE 21.3 19.5 22.5 -
=&/ME 58.0 60.0 58.0
R 80.0 81.0 80.0 -
=RXNIE 142.0 138.0 142.0 -
KRS 17 4 11 2
Fe FEBI 5L 53 18 34 1
(ug/dL) EfE 87.3 94.6 85.5 20.0
EERE 46. 4 45.9 46. 3 -
=/ME 17.0 26.0 17.0 20.0
hRE 79.0 81.0 74.5 20.0
=AIE 234.0 198.0 234.0 20.0
& E 15 3 11 i
Gu SEI 3R 51 18 33 0
(ug/dL) EHE 109. 4 101.9 113.5 -
ZERE 33.6 29.2 35.6 -
=/ME 40.0 66. 0 40.0 -
FARE 105.0 95.0 113.0 -
= XIE 175.0 151.0 175.0 -
RBI# 17 3 12 2
Se JEfI 2L 36 11 25 0
(ug/dL) THE 1.6 6.9 7.8 -
EERE 2.7 2.5 2.8 -
=/NME 2.0 3.2 2.0
hR{E 7.6 7.1 7.7 -
=XIE 16.2 11.7 16.2 -
BN 32 10 20 2
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3.6 BIREFERERIRE - BMD
fRtTERER: LR

EIEH BIBERR | BEEBEE | T 0MERES
HH fratE (n=68) (n=21) (n=45) (n=2)

WHELE et E HEt= HEE
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1 BEREHT—TIVEES FHER UBUILE

3.
RITHRER: 2R

TRIGID1212

S EREEE | BEEHES | T0MmiEES
EB hFdy— (n=68) (n=21) (n=45) (n=2)
SEBIEL (%) {51 3 (%) FEBIEL (%) FEBIE (%)
AT—TIHEDEE |E 37 (55.2) 11 (b2.4 25 (56.8) 1 (50.0)
5 30 (44.8) 10 (47.6) 19 (43.2) 1 (50.0)
V& 1 0 i 0
BAZE/IL— FHINEFR i 2 4 1
<BEE> ERNSEEAR 8 1 6 1
F 5 SR 18 8 10 0
E 5 SBRER 17 8 9 0
FHEE TRER 12 4 7 1
EEE TRk 9 3 5 i
A KERERAR 2 1 1 0
PN 4 2 2 0
FRHOFENDS 2 0 2 0
BEIEHOMMEDE | & 24 (35.8) 8 (38.1) 14 (31.8) 2 (100.0)
Eiiid B 43 (64.2) 13 (61.9) 30 (68.2) 0 (0.0)
KB 1 0 1 0
BEIEFOBRmME |HT—T/LEERSE 41 13 28 0
BB e 0 0 0 0
ganil 2 0 2 0
HF—TIVEERD SEFIER 41 13 28 0
o al%k EBE 3.1 2.6 3.3 -
ZHERE 2.7 1.7 3.0 -
=/ME 1.0 1.0 1.0 -
R {E 3.0 3.0 2.5 -
=KIE 14.0 6.0 14.0 -
R 0 0 0 -
BMEZ DMDEMR |[[EEFEQKRME 0 1 0
PREG R 0 1 0
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3.8 BERKITES
IR REE: AR

TRIGID1212

S RER HEERR | BEEYES | T OhEBEES
EE HFIY— (n=68) (n=21) (n=45) (n=2)
R 5 (%) RE151 55 (%) FEH15 (%) FE 515 (%)
FEBROERD & 50 (88.1) 20 (95.2) 37 (84. 1) 2 (100.0) |
ol 8 (11.9) 1 (4.8) 7 (15.9) 0 (0.0)
USE 1 0 1 0
BUDEE HERORE |EE 2 0 2 0
L BEE 6 1 5 0
EENEE BT BEELEFRFLZL 4 0 /] 0
10% 1 1 0 0
20% 0 0 0 0
30% 1 0 1 0
EEDEE B0 [F0 1 1 0 0
B F1 3 0 3 0
F2 2 0 2 0
F3 0 0 0 0
F4 0 0 0 0
2HEH GEEEE | BEEYET | TOMmEEES
IEH HFTY— (n=68) (n=21) (n=45) (n=2)
R 3 (%) FEBI (%) FEBIZ (%) FEBIH (%)
R EET R NOYE & 55 (82.1) || 18 (85.7) | 35 (/9.5) | 2 (100.0) |
A 12 (17.9) 3 (14.3) 9 (20.5) 0 (0.0)
VSE 1 0 1 0
[EYE = 66 (98.5) 21 (100.0) 13 (97.71 2 (100.0)
A 1 (1.5) 0 (0.0 1(2.3) 0 (0.0
VSE 1 0 1 0
TR RRE & 67 (100.0) || 21 (100.0) | 44 (100.0) 2 (100.0)
A 0 (0.0 0 (0.0 0 (0.0) 0 (0.0
LS E 1 0 1 0
SEILERIRE m 67 (100.0) || 21 (100.0) | 44 (100.0) 2 (100. 0)
& 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0)
VSN 1 0 1 0
FEK " 67 (100.0) || 21 (100.0) | 44 (i00.0) 2 (100.0)
ol 0 (0.0 0 (0.0 0 (0.0) 0 (0.0)
RBIEL 1 0 1 0
ZOOBEEDMEIRET |#& 67 (100.0) || 21 (100.0) | 44 (100.0) 2 (100.0)
HEREIR A 0 (0.0) 0 (0.0) 0 (0.0 0 (0.0
VEE 1 0 1 0
FEEER [H 06
SREHI SIEERE | BEEYES | TOMEERES
EE Tt e (n=12) (n=3) (n=9) (n=0)
thetE hEte et et E
D-Bil (mg/dL) FEBIEL 12 3 9 0
(W) FEHE 2.9 3.2 2.9 -
1EB8 EERE 1.4 0.5 1.6 -
2/ME 2.1 2.7 2.1 -
hRiE 2.5 3.2 2.4 -
BXIE 7.1 3.6 71 -
VS 0 0 0 -
D-BiT (mg/dL) FEBIEL 12 3 9 0
(BB lRE) EifE 4.0 3.7 4.0 -
2E B EERE 1.7 1.1 1.9 -
B/ME 2.3 2.7 2.3 -
hRiE 3.4 3.5 3.4 -
BAE 8.2 5.0 8.2 -
LSk 0 0 0 -
/RS (10%/mm®) aLIE 11 3 8 0
B EIYE 27.6 25.3 28.5 -
ZERE 16.9 14. 4 18.6 -
=/IME 8.9 8.9 12.9 -
hRIE 23.2 31.1 21.6 -
BXIE 70.0 35.8 70.0 -
VS E 1 0 1 -
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3.9 BEEBEES
TR ER: 2R
X EXn] EHEERE | BEEDES | TOMEEES
EE ATIAY— (n=68) (n=21) (n=45) (n=2)
) E-IHEE IiE B1E (%) E I (%) SEFIE (%) JEIER ()
FEEEEE | FLEHHE | FEE8HE | £HEHETE
I FR m 65 (98.5) 20 (95.2) 43 (100.0) 2 (100.0)
<l 1 (1.5) 1 4.9 0 (0.0 0 (0.0
RBIEL 2 0 2 0
RER 3 65 (98.5) 20 (95.2) 43 (100.0) 2 (100.0)
bzl 1 (1.5) 1 4.8) 0 (0.0 0 (0.0
R 2 0 2 0
1HREZ (mL/B) SEI 3 40 13 27 0
EE 847.8 859. 8 842.1 -
ZERE 368. 1 446.7 333.2 -
=/ME 100.0 300.0 100.0 -
th s 800.0 748.0 868.0 -
= XNE 1600.0 1600. 0 1500. 0 -
V&L 28 8 18 2
GLT7F=2HoUT7IY |E 62 (92.5) 18 (85.7) 42 (95.5) 2 (100.0)
AEADEE bzl 5 (1.5 3 (14.3) 2 (4.5) 0 (0.0)
R A% 1 0 1 0
JLT7F=Y SE5IEL 5 3 2 0
JUYFTSUR SEE 116.2 118.2 113.2 -
(mL/%>) ZERE 28.3 39.9 2.4 -
=/ME 80.6 80.6 111.5 -
g 114.0 114.0 113.2 -
=KIE 160.0 160.0 114.9 -
R Ak 0 0 0 -
BEEEDEE Fig 65 (97.0) 20 (95.2) 43 (97.7) 2 (100.0)
=l 2 (3.0) 1 (4.8) 1 (2.3) 0 (0.0)
ik 1 0 1 0
EEE B4E 0 0 0 0
EEB> REER 0 0 0 0
BERKiE 0 0 0 0
Bx 1 1 0 0
R 0 0 0 0
D 1 0 1 0
Z DHEE MMIHSOD 1=, #E 1 0 ; 0
RAEBEREH Y,
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3.10 B RFEIAERBEIFR
TR &M 2R

TRIGID1212

£ IEH BHEERE | BEEYET | TOihikEES

BB HFdY— (n=68) (n=21) (n=45) (n=2)
SE{SIEL () SEBIE SE{51ER (%) JiE 15025 (%)
INERIEBIZHT 2RaDNE (WEEEDAEL || 50 (J46) || 16 (76.2) 33 (75.0) T (50.0)
3 EBLTHAEL 8 (11.9) 3 (14.3) 5 (11.4) 0 (0.0
BEERS 6 (9.0 1 (4.8) 4 (9.1) 1 (50.0)
A S AL 3 (4.5) 1 (4.8 2 (4.5 0 (0.0)

LEE 1 0 1 0
INEBIEIZH T 2 EOME [BEEBDhAEN 14 (20.9) 7 (33.3) 7 (15.9) 0 (0.0
% EELTHAEL 23 (34.3) 6 (28.6) 16 (36.4) 1 (50.0)
DBEEERS 20 (29.9) 5 (23.8) 14 (31.8) 1 (50.0)
Hh B EN 10 (14.9) 3 (14.3) 7 (15.9) 0 (0.0)

RBIE 1 0 1 0




4.1 BEHRM

fRArxI SR &M 2R

TRIGID1212

2 EH TREREE | BEEIREE | z0MhiEEESE
EH e (n=24) (n=8) (n=14) (n=2)
i wLat = FEI 5 (%) FEBI 5 (%) REI L (%) FEBI B (%)
FEHE | ESREHHE | EhE5kHE | £ EmEE
HEEE (B) B 24 ) 14 2|
EifE 55 57 54 4.8
= RE 2.1 2.2 2.2 0.6
B/IME 2.6 3.0 2.6 4.4
R B 4.9 4.9 4.8 4.8
O] 9.5 9.5 8.8 53
RBI%L 0 0 0 0
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4.2 FARU FDER
fEMTWRER: 2R

TRIGID1212

EHH =IEH] (n=24) ERE R (=0) FEegEs (=14) ZDIEBERE (=2

=gk % BT ® ol = 2l = g
EE 24 (100.0) 0 (0.0 8 (100.0) 0 (0.0) 14 (100.0) 0 (0.0) 2 (100.0) 0 0.0

1B H | ##5 £4EH] (n=24) TR IE B (n=8) BEeaEs (=14 40 EE (n=2)

Bk R E g = G-l " H & -1
FESOEE F 23 (100.0) 0 (0.0) 8 (100.0) 0 (0.0 13 (100.0) 0 (0.0) 2 (100.0) 0 (0.0)
=l 0 (0.0 1 (100.0) 0 (0.0 0 (0.0 0 0.0 1 (100.0) 0 (0.0 0 (0.0)
BEEEOEE = 22 (100.0) 0 (0.0) 7 (100.0) 0 (0.0) 13 (100. 0) 0 (0.0) 2 (100.0) 0 (0.0
izl 0 (0.0) 2 (100.0) 0 (0.0 1 (100.0) 0 (0.0) 1 (100.0) 0 (0.0 0 (0.0
NT—TILEFEDFE 3 15 (100. 0) 0 (0.0) 5 (100.0) 0 (0.0 9 (100.0) 0 (0.0) 1 (100.0) 0 (0.0
" 0 (0.0) 9 (100.0) 0 (0.0 3 (100.0) 0 (0.0 5 (100.0) 0 (0.0 1 (100.0)

EH £JEHI (n=24) e ERE (1=8) BEesEs (=14 ZDIEEEE (=2

Bt = 1 & " = 1 L3 E]
NEBEDEE 24 (100.0) 0 (0.0) 8 (100.0) 0 (0.0) 14 (100.0) 0 (0.0) 2 (100.0) 0 (0.0
BRI R 2 D BERR 23 (95.8) 1 4.2 1 (87.5) 1 (12.5) 14 (100.0) 0 (0.0) 2_(100.0) 0 (0.0

E)EBRE M ERT L,



4.3 BREVHEDHBE
BT RER: LR
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“ik

TRIGID1212
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00— C T T T B g T T
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</DR:FEERFFED 1R L8R >
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3.1 BEER
R RER: MR

TRIGID1212

R 2HEH] ERERE | BEEIEE | FOMmkeERESE
EE ATdl)— (n=13) (n=4) (n=1) (n=2)
E-IE#HEtE 151 25 (%) e 515 (%) SEBIEL (%) FEBIET (%)
ElodEE | E-EHHE | FREHHE | F-EHHE
TR ERES 6 (46.2) 3 (75.0) 2 (28.6) 1 (50.0)
i 7 (53.8) 1 (25.0) b (1.4 1 (50.0)
BB EE () Jie 151 5% 13 4 7 2
FfE 17.8 21.0 17.0 14.0
ZEERE 14.8 22. 4 13.2 4.2
=&=/ME 1.0 1.0 1.0 11.0
h e 14.0 15.0 14.0 14.0
=AE 53.0 53.0 42.0 17.0
@ik 0 0 0 0
FREFER (F) 9= 191 3% 13 4 7 2
EHE 5.85 7. 61 4.80 6.05
R RE 4.35 5. 41 4. 31 2.88
=/ME 1.31 1.31 1.45 4. 01
thiifig 4.01 7. 31 2.29 6.05
=XIE 14. 49 14. 49 12. 41 8.09
RBIER 0 0 0 0
FEH M S B8k H SE 3% 13 4 7 2
FTOHIE (A) EHE 151.0 173.3 152. 3 101.7
(BIED S DFBEAR) ZERE 138.6 204. 1 128.0 19.4
=1\E 3.9 14.0 3.9 87.9
il 113. 4 104. 3 113. 4 101.7
=XKIE 470. 6 470.6 360. 4 115. 4
RiBIE 0 0 0 0
& (cm) FEBIEL 13 4 7 2
1418 139.6 138.4 135.8 55.4 |
ZEERE 33.7 37.4 34.5 40.8
=/ME 64.0 85. 4 64.0 126.5
mh il 153.6 149.0 153. 6 155.4
mAfE 184.2 170.0 157.6 184.2
G 0 0 0 0
A E (kg) SEISY 13 4 7 2
i fE 37.1 33.9 36.6 451
EERE 16.9 16.7 15.5 31.3
=/ME 10.8 12.1 10. 8 22.9
i 44.8 37.3 47.0 451
mAE 67.2 49.0 491 67.2
RiBIE 0 0 0 0
EEFH (6RELLT) E 15 28 1 0 1 0
B 47.0 ) 47.0
=/ME 47.0 47.0
R {E 47.0 47.0
=AIE 47.0 ) 47.0
RiAIEL 1 1 0
Performance Status 0 1.0.D 0 (0.0) 1 (14.3) 0 (0.0)
(EC0G) 1 10 (76.9) 4 (100.0) 4 (67.1) 2 (100.0)
2 2 (15.4) 0 (0.0 2 (28.6) 0 (0.0
BEIERDOARDOEE & 2 (15.4) 0 (0.0 2 (28.6) 0 (0.0
H 11 (84.6) 4 (100.0) 5 (71.4) 2 (100.0)
BEIEROARB JE I3 11 4 5 2
T {E 80.9 94.8 96.0 15.5
EERE 106.7 62. 4 151.4 7.8
=/ME 10.0 17.0 10.0 10.0
L iE 46.0 96.5 46.0 15.5
=XAE 365.0 169.0 365.0 21.0
RBIE 0 0 0 0
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TRIGID1212

3.1 BEER
TR RER: DR

EIEH EHERE | BEEDES | TOMERIES

EE hFd)— (n=13) (n=4) (n=7) (n=2)
-3t E ;;“wai (_°/3r) ;}m’ﬁ;& (%+) i&’f@fﬁ (%+) iff{’ilzltﬁl (%1')
- [IHE = - $#iEtE - (IHRETE - [ 3HEE
TR 2 1R 22001 (DQ) B éﬁ'_‘__gf_' '%L-
(18mLLT) EHE 86.7 86.7 ~ -
EERE 33.5 33.5 = =
=/ME 48.0 48.0 - -
rh i fiE 105.0 105.0 ~ -
RXIE 107.0 107.0 ~ -
KA 6 0 4 2
EEL fiE 151 3% 4 3 0 1
(18 LLT) EigE 11.7 9.5 ~ 18.0
EERE 7.1 7.0 - -
B/ME 1.5 1.5 - 18.0
B 13.6 13.1 - 18.0
=AIE 18.0 14.0 ~ 18.0
RBIEL 5 0 4 1
BEHOFTm B2 1E 6 (66.7) 2 (66.7) 3 (75.0) 1 (60.0)
(18 LLT) 2E 1 (1. 1) 0 (0.0) 1 (25.0) 0 (0.0)
4 1 11.1) 1 (33.3) 0 (0.0) 0 (0.0)
5E 1 (1.1) 0 (0.0) 0 (0.0) 1 (50.0)
BEHoFMm B 1B 1 (25.0) 0 (0.0) 1 (50.0) 0 (0.0)
(18U T KD H) 2E 2 (50.0) 0 (0.0) 1 (50.0) 1 (100.0)
47 1 (25.0) 1 (100.0) 0 (0.0) 0 (0.0)
BEH DM 1E 2 (50.0) 1 (50.0) 1 (100.0) 0 (0.0)
Bifsess 2E 1 (25.0) 1 (50.0) 0 (0.0) 0 (0.0)
(18U T BHEDH) 3E 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
45 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
5E 1 (25.0) 0 (0.0) 0 (0.0) 1 (100.0)
&k 1 0 1 0
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TRIGID1212

3.2 HAERHEFR
FRITHRER: MR

2¥EH SIREEE | BEEREE | FothiiEE
EE WEE (n=13) (n=4) (n=7) (n=2)
Hite HitE #ite Hite
HEREE (om S E 5 1 3 1
THiE 48.2 46.0 49.2 477
EERE 1.7 - 1.4 -
=/ME 46.0 46.0 47.5 47.7
th R {E 47.7 46.0 50.0 47.7
BXIE 50.0 46.0 50.0 477
VS 8 3 4 1
HARBGKE (g E 151 3 8 2 5 1
EiE 2683.3 24550 2773.2 2690. 0
EER= 492.2 205. 1 614.2 -
=/ME 2068. 0 2310. 0 2068. 0 2690. 0
th B 2645. 0 24550 2867.0 2690. 0
SN 3418.0 2600. 0 3418.0 2690. 0
VS 5 2 2 1
H 2 BN e 5 i 3 1
FEfE 1.4 10.9 1.4 11.8
EERE 1.9 - 2.7 -
5/ME 8.3 10.9 8.3 1.8
thfE 1.8 10.9 12.7 11.8
BXIE 13.2 10.9 13.2 11.8
VL 8 3 4 1
HH EE rrEEE (om) e 3 1 2 0
THiE 3.4 31.5 31. 4 =
EERE 0.7 - 0.9 -
=/ME 30.7 31.5 30. 7 -
R 31.5 31.5 31. 4 -
=AIE 32.0 31.5 32.0 -
V& E 10 3 5 2
ERAE SEBIEL 4 0 4 0
FEyfE 36.3 - 36.3 -
EERE 3.6 - 3.6 -
5/ME 31.0 - 31.0 -
PR fE 37.5 - 37.5 -
BXIE 39.0 - 39.0 -
e 9 4 3 2
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3.3 BREFFFIREE
T RER: MR

TRIGID1212

] EX EREEE | HEEREES | ToMhikieES
HE AT~ (n=13) (n=4) (n=7) (n=2)
FIIHEE FEBIER %) JEBI 5L (%) EBI S (%) FEBI B (%)
i 1-: ‘j:liliﬁg-{'% i T: ‘i:iiﬁg-l-% -gs T: (j:t i E % i f: [itﬁi%}%
BRIREED A E 3 0 (0.0) 000 | 00 | 0@®O
] 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
HREEORER REBIZR 13 4 7 7
MNOBHEETOH EifE 111.5 113.1 117.9 86.0
R (A) TR RE 95.3 92.6 116. 3 18.8
B/ME 14.0 14.0 28.4 72.7
PR fE 72.7 103.5 68.8 86.0
=KE 316. 2 2314 316.2 99. 3
USIE 0 0 0 0
Bl ERE D BERE I {51 B 13 /] 7 2
BERE (Kcal/day) THiE 954.0 885. 6 914.3 1230.0
EERE 413.6 225.8 479.8 579.8
5/MiE 240.0 630. 0 240. 0 820.0
R {E 954. 3 876.2 1120.0 1230.0
BXE 1640. 0 1160. 0 1600. 0 1640. 0
V& e 0 0 0 0
T3/ BE 9iE 51 % 13 4 7 2
(g/day) TiiE 31.8 29.4 29. 4 45.0
EERE 16.0 12.3 17.2 21.2
B/ME 2.0 17.5 2.0 30.0
R {E 40.0 30. 0 40.0 450
BKIE 60.0 40.1 45.0 60. 0
V& 0 0 0 0
K= SEBIER 13 4 7 2
(L/day) THE 2.2 1.5 2.9 1.5
EERE 1.2 0.2 1.3 0.7
B/ME 1.0 1.2 1.5 1.0
il 1.8 1.5 2.5 1.5
=AE 5.0 1.6 5.0 2.0
B 0 0 0 0
—BEHRE E {5 21 13 4 7 2
BERE (RERS/ Ti9iE 14.5 14.4 15.6 1.0
H) THRRE 5.1 4.2 6.1 1.4
B/ME 10.0 10.0 10.0 10.0
hR{E 13.0 13.8 13.0 1.0
EXIE 24.0 20.0 24.0 12.0
&k 0 0 0 0
EEHEY SEfAIEL 13 4 7 ?
DEEZFDF THiE 7.0 7.0 7.0 7.0
HiREEH EEREE 0.0 0.0 0.0 0.0
(B/:8) S/ME 7.0 7.0 7.0 7.0
Rk {E 7.0 7.0 7.0 7.0
SN 7.0 7.0 7.0 7.0
Y&k 0 0 0 0
BT RIER qiE = 4 (30.8) 1 (25.0) 3 (42.9) 0 (0.0)
ELb-] 5 9 (69.2) 3 (75.0) 4 (57.1) 2 (100.0)
2 FEVER 8 (83.9) 37(100. 0) 3 (75.0) 2 (100.0)
Omegaven (R) 1 (1.1) 0 (0.0 1 (25.0) 0 (0.0
BREERERED  |TaurolLock (TM |2 13 (100.0) 4 (100.0) 7 (100. 0) 2 (100.0)
WMEBEFHE ) D{ERA ol 0 (0.0) 0 (0.0 0 (0.0 0 (0.0)
Th/—)L |& 5 (38.5) 2 (50.0) 3 (42.9) 0 (0.0)
OvoDER | & 8 (61.5) 2 (50.0) 4 (57.1) 2 (100.0)




3.4 BEEHED - BREXRE
TR ER: MR

TRIGID1212

HFEy— 2 E EHEEE | GEEYEE | Z0ihiEE
Fiv (n=13) (n=4) (n=7) (n=2)
EH Ft-l3fEt : =
g FEBIZL (%) JEE (%) IS (%) SEBIEL (%)
EE#EE | EEHEHE | Fo G e | FrUHHE
O - BREEXENAE 3 2 (15.4) 0 (0.0) 2 (28.6) 0 (0.0)
A 11 (84.6) 4 (100.0) 5 (71.4) 2 (100.0)
Rt R A S EEEFETOHME () SE B3R 3 3 3 2
FiE 72.9 72.8 39.8 122.9
EE (R 48.4 59.6 18.2 18.7
B/ME 13.8 13.8 26.8 109. 6
g fE 66.2 71.8 31.9 122.9
| ON ] 136. 1 132.9 60.6 136. 1
xR 3 1 2 0
EaERD BER= | fEIER 6 2 2 2
ERNE (Kcal/day) FiyiE 719.3 1300. 0 308.0 550. 0
EH (R 554. 7 565. 7 152.7 353.6
2/hME 200.0 900. 0 200. 0 300. 0
R fE 608.0 1300. 0 308.0 550. 0
BEXIE 1700.0 1700.0 416.0 800.0
SR 5 2 3 0
7I/BE SEBI 6 2 2 7
(g/day) FiyiE 27.6 54.0 10.8 18.0
BERE 23.3 16.5 2.9 17.0
B/ME 6.0 42.3 8.8 6.0
h g fiE 21.4 54.0 10.8 18.0
PN 65. 7 65.7 12.8 30.0
REIE 5 2 3 0
KnE SERIEL 6 2 2 2
(L/day) EHE 1.1 1.1 1.6 0.5
BERE 0.6 0.3 0.9 0.0
5/ME 0.5 0.9 1.0 0.5
g 0.9 1.1 1.6 0.5
BKAIE 2.2 1.3 ) 0.5
KB 5 2 3 0
—HEHE SEBIER 10 3 5 2
Ex[E% (E/8) EHE 2.7 2.7 3.0 2.0
BERE 1.3 1.5 1.4 1.4
B/ME 1.0 1.0 1.0 1.0
gL fE 3.0 3.0 3.0 2.0
BXIE 5.0 40 5.0 3.0
RAI%k i i 0 0
TEBE-YDBE | fehis 10 3 5 2
ZOEHIERBHK 5B 6.6 7.0 7.0 5.0
(8/i8) =R 1.3 0.0 0.0 2.8
B/ME 3.0 7.0 7.0 3.0
hR{E 7.0 7.0 7.0 50
BXIE 7.0 7.0 7.0 7.0
&A%k i i 0 0
HE EmOYEI- £ 556 & 12 (92.3) 3 (75.0) 7 (100.0) 2 (100.0)
BDIET A 1.7 1 (25.0) 0 (0.0) 0 (0.0)
EOER ) T (.7 0 (0.0) T (14.3) 0 (0.0)
A 12 (92.3) 4 (100.0) 6 (85.7) 2 (100.0)
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3.5.1 BRBTOMDEEE - FH. SEAROFE
R RER: MR

TRIGID1212

2IEH BRERE | BEERE | T OMhiERES
EE HETy— (n=13) (n=4) (n=7) (n=2)
FEBIER (%) FEBI 2R (%) RE5125 () R (%)
EEHME S | FEEE | LIS | FE3HEHE
AIHIM ATIIFMOIHAEA [ 12 (92.3) 4 (100.0) 6 (85.7) 2 (100.0)
o DEFE AT =) 13.1 0 (0.0) 1.(14.3) 0 (0.0
2H ProbioticsDfEH i 6 (46.2) 1 (25.0) 4 (57.1) 1 (50.0)
=] 7 (3.8 3 (75.0) 3 (42.9) 1 _(50.0)
BEEHHEROME & 8 (61.5) 2 (50.0) 4 (57.1) 2 (100.0)
A =1 5 (38.5) 2 (50.0) 3 (42.9) 0 (0.0)
H,Blocker D& FH % 8 (61.5) 2 (50.0) 5 (71.4) 1_(50.0)
il 5 (38.5) 2 (50.0) 2 (28.6) 1 (50.0)
PPIDER i 11 (84.6) 4 (100.0) 5 (1.4 2 (100.0)
" 2 (15.4) 0 (0.0 2 (28.6) 0 (0.0
SERGEER | EEAROFE 3 0 (0.0) 0 (0.0) 0 (0.0) 0 (0.0)
=] 13 (100.0) 4 (100.0) 7 (100.0) 2 (100.0)
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3.5.2 BHEBNRIAREN—K
TR REM: MR

= | ; BEREF | SMELRYBED HhELEY BENMNEO |[BEFD

BRES| BHA L SRR | g SihE s eem | aw |
001-008 | 2013/8/29 (el lEEE 14.49 53 1974/7/1 &R 15 S
004-001 | 2013/5/20 |5GRmiElZEr 6.83 17 2002/4/22  |BBEYIR 15 im
004-001 | 2013/5/20 |%ERmiElZaE 6.83 17 2002/4/22 |BBEES - -
004-001 | 2013/5/20 |5aimiEizz: 6.83 17 2002/5/15 | EmRsE - -
011-005 | 2013/11/11 |BEESEE 1.45 19 | 2008/12/18 |BEES - -
011-005 | 2013/11/11 |l EEBNES 1.45 19 2012/5/9 |EEE% - -
011-005 | 2013/11/11 |[BEEHEE 1.45 19 2012/5/17 |f3fEEH - -
011-005 | 2013/11/11 |laEEBfES 1.45 19 2012/7/9  |BBEUR 355 5
011-005 | 2013/11/11 |IFEEHEE 1.45 19 2012/8/23 |lB&vIk 100 m
015-002 | 2013/10/25 |IBREEBIES 2.05 1 2011/6/15 |IBEaE% - -
015-002 | 2013/10/25 | & BB EE 2.05 1 2011/7/12 _ |FeEsEE% - -
015-002 | 2013/10/25 |l EESfES 2.05 1 2011/8/12 |BBEUKk 40 P
015-002 | 2013/10/25 |l EEfE S 2.05 1 2012/11/71 |IBEEER - -
015-002 | 2013/10/25 BB EESfEE 2.05 1 2012/11/18 |ipE&s Z

015-002 | 2013/10/25 |l & EEEE 2.05 1 2013/1/4  |RBYERASH - -
016-003 | 2013/10/7 |sERmiE=aF 1.31 1 2012/8/7 |BEUR 24 W
019-003 | 2013/8/29 |IBEEHEE 2.17 7 2009/3/2  |RpEdE: - -
019-003 | 2013/8/29 |ImEEEEE 2.17 7 2009/12/9 |BBEEER - -
019-003 | 2013/8/29 |BEEHES 2.17 7 2010/3/8 B - -
019-003 | 2013/8/29 |BEEBNEE 2.17 7 2009/3/2 | EEES - -
019-003 | 2013/8/29 |[BEESNEE 2.17 7 2010/3/8  |R51EFASH - -
020-004 [ 2013/11/13 [IREESEE 12. 41 ) 1996/12/17 |hpiEas - -
022-002 | 2013/12/20 | Z D hiZEEEE .09 17| 2004/10/13_|BBE9k Z &
022-005 | 2013/12/20 [lBEEBIEE 2.29 23 2012/8/5  |IBEvE: - -
022-005 | 2013/12/20 |[a & B8 fEE 2.29 23 2013/1/9 _|BBEUR 205 =
023-003 | 2013/11/8 |Z DihikAEES 4. 01 11 2008/1/8  |BEE% - -
023-003 | 2013/11/8 |Z MihikaeES 4. 01 11 2008/1/18 | s - -
024-001 | 2013/11/20 |lmEEBES 3.89 13 2005/2/2  |EEEHR - -
024-001 | 2013/11/20 |l EEBfEE 3.89 13 2005/2/14 |iB&YIR - i
024-001 | 2013/11/20 |[3 & EBEE 3.89 13 2005/2/18 | ATHRIP9&EER - -
024-001 | 2013/11/20 [IZEEBfEE 3.89 13 2005/2/23  |BeEvE -

024-001 | 2013/11/20 [ & EBEE 3.89 13 2007/2/15 |R5iERASE - -
026-001 | 2013/11/20 |5aBaiE IEEE 7.79 13| 2007/11/21 |BEIR 0 i
026-001 | 2013/11/20 |}5 i 5 2% 7.79 13 | 2007/11/21 |BEwsE - -
032-003 | 2014/2/14 |IFEEDEE 9.33 14 2011/6/6 [BpEEH = -
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3.6 ZEXFFERIRIRE - BMD
R REME: MR

ZFEH| GISEEE | BEEFHES | TOMEEES
EE HEt= (n=13) (n=4) (n=7) (n=2)
#Et= = Het= fHet=
~ESOE > TiE BIER 13 4 / 2
(g/dL) EHE 11.8 1.6 12.0 1.4
ZERE 1.9 1.3 2.3 2.5
5/ME 7.6 9.7 7.6 9.6
EER] 1.9 1.9 12.9 1.4
=KIE 14.4 12.9 14.4 13.1
VEE 0 0 0 0
B I BRkEL JiE {515 13 4 ] 2
(/mn°) T {E 5890. 8 5750. 0 5822.9 6410.0
TERE 1570. 8 1420. 1 1846.0 1569. 8
5/ME 3300.0 4600. 0 3300. 0 5300. 0
th 5900. 0 5350. 0 6600. 0 6410. 0
RAE 8100. 0 7700.0 8100. 0 7520. 0
VL 0 0 0 0
M/ R FEBIEL 13 ] 7 2
(x10*/mm®) FigfE 26.0 34.9 22.0 22.5
ZEREE 12.7 16.9 8.8 13.3
B/ME 7.0 14.3 7.0 13.1
g 23.9 35.0 20. 8 225
BXIE 55. 3 55. 3 33.6 31.9
ek 0 0 0 0
AST fiE {5l 5 13 4 7 2
(1U/L) FEiYiE 49.8 445 59.0 28.0
THERE 36.6 29.5 442 1.3
B/ME 20.0 24.0 23.0 20.0
gl 36.0 33.5 40.0 28.0
BKIE 142.0 87.0 142.0 36.0
VS E 0 0 0 0
ALT FEBIEL 13 ] 7 7
(1U/L) A FEH{E 45.5 45.3 52 4 22.0
ZERE 34.4 31.6 40.3 2.8
B/ME 4.0 25.0 4.0 20.0
FRiE 37.0 32.0 50.0 22.0
BXIE 131.0 92.0 131.0 24.0
VS E 0 0 0 0
7 GIP FEBIER 13 ] 7 7
(1U/L) e 43.6 51.8 453 21.5
ZERE 39.3 65. 6 27.1 2.1
=/ME 15.0 17.0 15.0 20.0
R fE 23.0 20.0 39.0 21.
BXIE 150.0 150. 0 88.0 23.0
VS 0 0 0 0
T-B11 RE ISR 13 ] 7 7
(mg/dL) FHIE 0.5 0.3 0.7 0.5
ZERE 0.4 0.0 0.6 0.2
B/ME 0.3 0.3 0.3 0.3
R fE 0.3 0.3 0.6 0.5
BXIE 1.9 0.4 1.9 0.6
VS 0 0 0 0
D-Bil , I 10 ] 4 2
(mg/dL) FEi9iE 0.2 0.1 0.4 0.0
THERE 0.4 0.1 0.5 0.0
=/ME 0.0 0.1 0.1 0.0
R {E 0.1 0.1 0.2 0.0
BXIE 1.2 0.2 1.2 0.0
VS E 3 0 3 0
TP REBIEL 13 7 7 7
(g/dL) FiYfE 6.7 6.7 6. 4 7.8
ZERE 0.8 1.0 0.5 0.4
2/ME 5.7 58 57 7.5
R {E 6.5 6.5 6.4 7.8
BAIE 8.1 8.0 7.1 8.1 ]
VS E 0 0 0 0 )
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